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I = hd #
A B C D
TAR—AXI=E 875 R £ 775 m U £ 675 MLl k£ 674 HLLTR
BE—AXITE 816 m Ll k£ 715 m Bk 616 Lk 614 HLLR
KII=E 750 g LB k£ 650 Lk 550 L k£ 549 HLLR
EELSE 750 g LBl k£ 650 Lk 550 L k£ 549 HLLR
Pl O N i =4 775 m L k£ 675 Lk 576 Ll k£ 574 HLLR
AIL=E 750 R Bl £ 650 MLl k£ 550 &L k£ 549 R LR
BRI = 750 R Bl £ 650 MLl k£ 550 KL k£ 549 R LR
BERI=E 755 Rl £ 655 Ll k£ 556 | Ll k£ 554 R LR
E1=E 770 R £ 670 Rl k£ 570 ML £ 569 m LR
A4 habd - TRy I1E 750 R Bl £ 650 MLl k£ 550 L k£ 549 R LR
MBS IS 750 gL k£ 650 Lk 550 Ll k£ 549 HLLR
BEHETHE 750 s k£ 650 Lk 550 L k£ 549 H LR
HET=E 780 m Ll k£ 680 m Lk 580 m Ll k£ 579 m LR
Lw AT DIEHE 760 Ll k£ 660 s Ll E 560 Ll k£ 569 H LR
G = 750 R Bl £ 650 MLl k£ 550 L k£ 549 R LR
Ao XIEHE 750 R Bl £ 650 MLl k£ 550 L k£ 549 R LR
BETE 765 Rl £ 665 MLl E 565 m Ll k£ 564 R LT
ik T= 770 R £ 670 R £ 570 ML £ 569 m UL
NEMF ET =S 756 Ll k£ 655 m Ll E 556 Ll E 554 R LLR
B ERELS 750 m LBl k£ 650 Lk 550 Ll k£ 549 H LR
RigEIE 750 m LBl k£ 650 Lk 550 Ll k£ 549 R LLR
EXBREILSE 750 m LBl k£ 650 Lk 550 L k£ 549 R LLR
EEITE 760 R L £ 660 Ll E 560 L k£ 559 HLULR
SCHI=E 750 R Bl £ 650 MLl k£ 550 L k£ 549 R LR
BET=E 750 R Bl £ 650 MLl k£ 550 L k£ 549 R LR
KEREHZRTE 780 R Ll £ 680 m Ll k£ 580 m KL k£ 579 m U
HEAER T H 750 gL k£ 650 Lk 550 Ll k£ 549 H LR
BRERISE 750 gL k£ 650 Lk 550 Ll k£ 549 R LR
A IE 785 m Ll k£ 685 MLl E 585 m Ll k£ 584 H LR




